Year 11 Mathematics Learning Journey: Unit 6 - Ratio and Proportion

Step 12: Mixed ratio | | Step 11 Ratio | Step 10: Combining Ratios Stelgib?:rsrfsBuy
problems and Algebra The ratio of the number of —
The ratio of the ) cats to dogs in a pet shopis | { YVhich is better value:
angles in a triangle is x:y is equal to 5:3 2:5 The ratio of the number Al 4 litres oqulce for
3:4:5. Show that the | | ork outx andy if of dogs to rabbits in the £1.80 of 3 litres of
triangle does not | X~y =240 | shop is 3:10. Find the ratios juice for £1.507
contain a right angle. of Cats:Dogs:Rabbits
) ’ Step 8: Ratios
of the form 1:n
and n:1
Step 5: Ratios and Stepib=Curmency Step 7: Ratios and scales Write the ratio
Graphs Conversion e — — £5:80p in the
If two variables are Poundg to Canadian dollars zcrr:]e::pizem:azoamgrygs’_ form n:1
directly proportional, is £1.=$1.70 Express the scale of the map
what will the graph How many Canadian dollars as a ratio in its simplest form.
look like? can you get for £2007?
Step 4: Make . . ;
comparisons Step. 3: Share in a ratio Stepfi;?t?:c)l:: and I Step 1. Compare |
Compare the Rosie, Tommy and Alex using ratios
ratios 3:2 and 3:4 share £90 in the ratio 6:5:4. Four-fifths of a bag of
| How much more money sweets are red. What is Why is 2:1
does Rosie get than Alex? the ratio of red sweets different from 1:27
to non-red sweets?
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